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I. AIMS:
- To test students’ reading, writing, listening skill.
- To test students’ knowledge from unit 7 to unit 11.
II. CONTENTS
1. Tenses:  - Tenses: the present perfect tense, the present simple tense, the simple past tense, the future simple tense, the future continuous tense, present continuous tense.
2. Structures: 
- -ed/-ing adjectives
- Connectors: because, although, despite / in spite of, however, nevertheless
- H/Wh – questions
- Past simple: “used to”
- Passive voice
- Possessive pronouns
- Prepositions
3. Vocabulary related to the topics: traffic, films, festivals around the world, sources of energy.
4. Phonetics: Sounds: /e/, /ei/; /t/, /id/, /d/; and Stress: 2-syllable words, 3-syllable words.
III. THE MATRIX (Listening unit 10 – skills 2)
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THE SECOND TERM TEST – N0:1
ENGLISH 7
Time: 45 minutes




A. Listening (7*2pts = 14pts)
I. Listen and complete the sentence by choosing A, B, C or D. (5*2pts = 10pts)
1. Energy is …………… to human beings. 
A. fund			B. ground 		C. developing  		D. fundamental
2. Many poor people in developing countries do not have modern sources of energy like electricity or ….
A. natural oil 		B. natural resources	C. natural gas		D. biogas
3. People who live in ……………..  areas have to gather wood for fuel.
A. mountain		B. mountainous		C. mountains		D. rural
4. Biogas is the largest energy resource …………….. 
A. available 		B. unavailable		C. redundant		D. plentiful  
5. The tendency to use …………………... energy sources in developing countries is on the increase as non-renewable ones are running out.
A. reusable 		B. non-renewable	C. renewable		D. available
II. Answer the questions by choosing A, B, C or D. (2*2pts = 4pts)
6.  What do people who live in mountainous areas have to collect for fuel?
A. They have to gather wood for fuel.
B. They have to gather oil for fuel.
C. They have to gather coal for fuel.
D. They don’t have to gather anything for fuel.
7.  What is the main use of biogas for?
A. The main use of biogas is for cook and heat.
B. The main use of biogas is for cooking and heating.
C. The main use of biogas is to cooking and heating.
D. The main use of biogas is to cooking and to heat.
B. Pronunciation (5*2pts = 10pts)
I. Choose the word whose underlined part is pronounced differently. (3*2pts = 6pts) 
8. A. arrived             	B. watched                 	C. packed                   	D. typed 
9. A. obey 		B. key 			C. grey 		D. survey 
10. A. negative	B. alternative		C. dangerous		D. distance 
II. Choose the word having stress pattern different from the others. (2*2pts = 4pts)
11. A. common 	B. happy 		C. complete 		D. joyful
12. A. favorite             B. pollution                	C. imagine                 	D. exhausted
C. Reading (8*2pts =16pts) Choose the best answer
Modern cities all over the world face the same problems. One of them is poor housing. People often live in old houses (13) …….. huts that don't have electricity or sanitation. As city population grows governments don't have the money to build modern apartment buildings.
Cars and industries are (14) …….. city air and rivers more and more. Waste that people throw away is burned or ends up in landfills. All of this makes modern cities an unhealthy place to live in. Especially (15) …….. morning and evening rush hours cities become packed with (16) ……….. . Daily traffic jams make it impossible for people to get to work in time. 
City authorities are spending more and more money (17) ………. public transportation and are talking other steps (18) ……….. traffic in cities. A few years ago the London mayor made people pay to drive their cars into the city Centre. 
Cities of today face many (19) ………. problems. Crime, alcoholism and drug addiction is especially high in cities. Many young people are unemployed. Larger multiethnic cities face conflicts between groups with different cultural backgrounds. Blacks and whites in the USA and South Africa had a violent history in the 20th century. Even though residents of cities have a higher standard of living there remain many poor people. Government organizations work hard to (20) ………... poverty. They try to give such people better education and jobs.
13. A. and			B. or			C. but			D. between
14. A. to pollute		B. polluted		C. polluting		D. pollution
15. A. during			B. from		C. beginning		D. ending




16. A. cars	 		B. motorbikes 		C. planes		D. vehicles
17. A. in			B. of			C. on			D. at
18. A. to reduce		B. reduce		C. reduced		D. will reduce
19. A. society			B. social		C. socially		D. societies
20. A. get on well 		B. get out 		C. get into 		D. get rid of
D. Vocabulary and Grammar (12*2pts = 24pts)
I. Choose the best answer (10*2pts = 20pts)
21. Look at the photo! You're ………….. a flying car.
A. driving                  	B. flying           	C. riding		D.  running
22. The film was so boring ………. , Jack saw it from beginning to end.
A. Therefore 		B. However 		C. Although 		D. Despite 
23. At 7.00 am tomorrow, my daughter …………… to school.
A. will be cycling	B. will be cycled	C. will cycle		D. cycle
24. The movie on TV last night made me ..................
A. bore                        B. boring                    C. bored                       D. boredom
25. I find listening to music …………… because it helps me relax after a hard working day.
A. interesting		B. interested		C. interest		D. interests 
26. Nuclear energy is ………….. , but it is dangerous.
A. renewable		B. fossil fuel		C. non-renewable 	D. natural resource
27. Don't read in bed, . . . . .  your eyes will be harmful.
A. or 			B. and 			C. but 			D. so
28. Will you . . . . . a taxi or a bus to the hospital in case you are sick?
A. drive 		B. take			C. fly 			D. walk 
29. In the past people used to ………. to the office.
A. to walk	            B. walk		C. will walk 	            D. walking
30. ………….. . . . Can you tell me the way to the food shop?
A. Thank you 		B. All right 		C. Listen 		D. Excuse me 
II. Find out and circle the mistake by choosing A, B, C or D. (2*2pts = 4pts)
31. In spite of the weather was bad, I went out.
        A                       B          C                    D
32. More renewable energy sources will be used to solve the problem of pollute.							A			      B	            C	                         D
E. Writing (8*2pts = 16pts)
I. Change these sentences into the passive. (4* 2pts = 8pts)
33. They will install the solar panels on the roof of our house next week. 
………………………………………………………………………… . 
34. No one grows these trees.
………………………………………………………………………… .   
35. They have built this building since 2019.
 ………………………………………………………………………… .
36. My mother bought some eggs yesterday.
………………………………………………………………………… .
II. Rewrite the sentences without changing the meaning. (4*2pts = 8pts)
37. He got a bad mark because he was lazy. (because of)
 …………………………………………………………………………………………………...
38. The content of the film wasn't good. I enjoyed the acting. (Although)
…………………………………………………………………………………………………...
39. We usually walk to school. (on)  
 ………………………………………………………………………… .
40. That is his invention. (Possessive pronouns)
…………………………………………………………………………

----The end----
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A. Listening (7*2pts = 14pts): Unit 10 - Skills 2
I. Listen and complete the sentence by choosing A, B, C or D. (5*2pts = 10pts)
1. Energy is …………… to human beings 
A. fund			B. ground 		C. developing  		D. fundamental
2. Many poor people in developing countries do not have modern sources of energy like electricity or ….
A. natural oil 		B. natural resources	C. natural gas		D. biogas
3. People who live in ……………..  areas have to gather wood for fuel
A. mountain		B. mountainous	C. mountains		D. rural
4. Biogas is the largest energy resource …………….. 
A. available 		B. unavailable		C. redundant		D. plentiful  
5. The tendency to use …………………... energy sources in developing countries is on the increase as non-renewable ones are running out.
A. reusable 		B. non-renewable	C. renewable		D. available
II. Answer the questions by choosing A, B, C or D. (2*2pts = 4pts)
6.  What do people who live in mountainous areas have to collect for fuel?
A. They have to gather wood for fuel.
B. They have to gather oil for fuel.
C. They have to gather coal for fuel.
D. They don’t have to gather anything for fuel.
7.  What is the main use of biogas for?
A. The main use of biogas is for cook and heat.
B. The main use of biogas is for cooking and heating.
C. The main use of biogas is to cooking and heating.
D. The main use of biogas is to cooking and to heat.
B. Pronunciation (5*2pts = 10pts)
I. Choose the word whose underlined part is pronounced differently. (3*2pts = 6pts) 
8. A. arrived             	B. watched                 	C. packed                   	D. typed 
9. A. obey 		B. key 			C. grey 		D. survey 
10. A. negative	B. alternative		C. dangerous		D. distance 
II. Choose the word having stress pattern different from the others. (2*2pts = 4pts)
11. A. common 	B. happy 		C. complete 		D. joyful
12. A. favorite             B. pollution               	C. imagine                 	D. exhausted
C. Reading (8*2pts = 16pts) Choose the best answer
Modern cities all over the world face the same problems. One of them is poor housing. People often live in old houses (13) …….. huts that don't have electricity or sanitation. As city population grows governments don't have the money to build modern apartment buildings.
Cars and industries are (14) …….. city air and rivers more and more. Waste that people throw away is burned or ends up in landfills. All of this makes modern cities an unhealthy place to live in. Especially (15) …….. morning and evening rush hours cities become packed with (16) ……….. . Daily traffic jams make it impossible for people to get to work in time. 
City authorities are spending more and more money (17) ………. public transportation and are talking other steps (18) ……….. traffic in cities. A few years ago the London mayor made people pay to drive their cars into the city Centre. 
Cities of today face many (19) ………. problems. Crime, alcoholism and drug addiction is especially high in cities. Many young people are unemployed. Larger multiethnic cities face conflicts between groups with different cultural backgrounds. Blacks and whites in the USA and South Africa had a violent history in the 20th century. Even though residents of cities have a higher standard of living there remain many poor people. Government organizations work hard to (20) ………... poverty. They try to give such people better education and jobs.
13. A. and			B. or			C. but			D. between
14. A. to pollute		B. polluted		C. polluting		D. pollution
15. A. during			B. from		C. beginning		D. ending


16. A. cars	 		B. motorbikes 		C. planes		D. vehicles
17. A. in			B. of			C. on			D. at
18. A. to reduce		B. reduce		C. reduced		D. will reduce
19. A. society			B. social		C. socially		D. societies
20. A. get on well 		B. get out 		C. get into 		D. get rid of
D. Vocabulary and Grammar (12*2pts = 24pts)
I. Choose the best answer (10*2pts = 20pts). 
21. Look at the photo! You're ………….. a flying car.
A. driving                  	B. flying           	C. riding		D.  running
22. The film was so boring . . . . . , Jack saw it from beginning to end.
A. Therefore 		B. However 		C. Although 		D. Despite 
23.  At 7.00 am tomorrow, my daughter …………… to school.
A. will be cycling	B. will be cycled	C. will cycle		D. cycle
24.The movie on TV last night made me  ................. .
A. bore                        B. boring                     C. bored                     D. boredom
25. I find listening to music …………… because it helps me relax after a hard working day.
A. interesting		B. interested		C. interest		D. interests 
26 Nuclear energy is ………….. , but it is dangerous.
A. renewable		B. fossil fuel		C. non-renewable 	D. natural resource
27. Don't read in bed, ………... your eyes will be harmful.
A. or 			B. and 			C. but 			D. so
28. Will you .......... a taxi or a bus to the hospital in case you are sick?
A. drive 		B. take		B. fly 			D. walk 
29. In the past people used to ………. to the office.
A. to walk	            B. walk		C. will walk 	            D. walking
30..………….....  Can you tell me the way to the food shop?
A. Thank you 		B. All right 		C. Listen 		D. Excuse me 

II. Find out and circle the mistake by choosing A, B, C or D. (2*2pts = 4pts)
31. In spite of the weather was bad, I went out.
            A                   B        C                       D
32. More renewable energy sources will be used to solve the problem of pollute.							A			     B	              C	                        D
E. Writing (8*2pts = 16pts)
I. Change these sentences into the passive. (4* 2pts = 8pts)
33. They will install the solar panels on the roof of our house next week. 
The solar panels will be installed on the roof of our house next week.
34. No one grows these trees.
 These trees aren’t grown.
35. They have built this building since 2019.
 This building has been built (by them) since 2019.
36. My mother bought some eggs yesterday.
 Some eggs were bought by my mother yesterday.
II. Rewrite the sentences without changing the meaning. (4*2pts = 8pts)
37.He got a bad mark because he was lazy. (because of)
 He got a bad mark because of his laziness.
38. The content of the film wasn't good. I enjoyed the acting. (Although)
 Although the content of the film wasn't good, I enjoyed the acting.
39 We usually walk to school. (on)  
  We usually go/travel/get to school on foot.
40. That is his invention. (Possessive pronouns)
  That invention is his.
----The end----
     Người ra đề		                 TTCM                                                                 BGH
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A. Listening (7*2pts = 14pts)
I. Listen and complete the sentence by choosing A, B, C or D. (5*2pts = 10pts)
1. Energy is …………… to human beings 
A. fund			B. ground 		C. fundamental			D. developing  		
2. Many poor people in developing countries do not have modern sources of energy like electricity or ….
A. natural oil 		B. natural gas		C. natural resources		D. biogas
3. People who live in ……………..  areas have to gather wood for fuel
A. mountain		B. mountainous		C. city				D. rural
4. Biogas is the largest energy resource …………….. 
A. available 		B. unavailable		C. redundant			D. plentiful  
5. The tendency to use …………………... energy sources in developing countries is on the increase as non-renewable ones are running out.
A. reusable 		B. available 		C. non-renewable		D. renewable
II. Answer the questions by choosing A, B, C or D. (2*2pts = 4pts)
6.  What do people who live in mountainous areas have to collect for fuel?
A. They have to gather oil for fuel.
B. They don’t have to gather anything for fuel.
C. They have to gather coal for fuel.
D. They have to gather wood for fuel.
7.  What is the main use of biogas for?
A. The main use of biogas is for cooking and heating.
B. The main use of biogas is for cook and heat.
C. The main use of biogas is to cooking and heating.
D. The main use of biogas is to cooking and to heat.
B. Pronunciation (5*2pts = 10pts)
I. Choose the word whose underlined part is pronounced differently. (3*2pts = 6pts) 
8. A. attended           	B. washed                   		C. decided                 	D. disappointed 
9. A. electricity	B. negative			C. energy 		D. alternative 
10. A. renewable	B. resource			C. plentiful		D. vehicles 
II. Choose the word having stress pattern different from the others. (2*2pts = 4pts)
11. decrease		B. increase			C. reduce		D. suffer 
12. A. dangerous 	B. expensive 			C. enormous 		D. convenient 
C. Reading (8*2pts = 16pts) Choose the best answer
Modern cities all over the world face the same problems. One of them is poor housing. People often live in old houses (13) …….. huts that don't have electricity or sanitation. As city population grows governments don't have the money to build modern apartment buildings.
Cars and industries are (14) …….. city air and rivers more and more. Waste that people throw away is burned or ends up in landfills. All of this makes modern cities an unhealthy place to live in. Especially (15) …….. morning and evening rush hours cities become packed with (16) ……….. . Daily traffic jams make it impossible for people to get to work in time. 
City authorities are spending more and more money (17) ………. public transportation and are talking other steps (18) ……….. traffic in cities. A few years ago the London mayor made people pay to drive their cars into the city Centre. 
Cities of today face many (19) ………. problems. Crime, alcoholism and drug addiction is especially high in cities. Many young people are unemployed. Larger multiethnic cities face conflicts between groups with different cultural backgrounds. Blacks and whites in the USA and South Africa had a violent history in the 20th century. Even though residents of cities have a higher standard of living there remain many poor people. Government organizations work hard to (20) ………... poverty. They try to give such people better education and jobs.
13. A. and			B. between 		C. but			D. or 
14. A. to pollute		B. polluting		C. polluted 		D. pollution
15. A. beginning		B. from		C. during 		D. ending



16. A. vehicles 	 	B. motorbikes 		C. planes		D. cars
17. A. in			B. on			C. at			D. of
18. A. will reduce		B. reduce		C. reduced		D. to reduce
19. A. social			B. society 		C. societies		D. socially 
20. A. get into 			B. get out 		C. get rid of 		D. get on well  
D. Vocabulary and Grammar (12*2pts = 24pts)
I. Choose the best answer (10*2pts = 20pts) 
21. My father is ………….. a bike.
A. driving                  	B. flying           	C. riding		D.  running
22. . . ……….. . the film is a bit frightening, I really enjoyed it.
A. However 		B. Nevertheless 	C. Although 		D. Despite 
23. At 6.30 am tomorrow, Peggy …………… to school.
A. will be cycling	B. will be cycled	C. will cycle		D. cycle
24. They will go on holiday with some ……………..friends .
A. interest		B. interested		C. interesting		D. interests
25. Reading book makes me ……………….. because I can learn many things from the books.
A. interesting		B. interested		C. interest		D. interests
26. Nuclear is …………..energy, but it is dangerous.
A. renewable		B. fossil fuel		C. non-renewable 	D. natural resource
27. Don't read in week light . . . . . your eyes will be harmful.
A. because 		B. although		C. but 			D. so
28. Will you . . . . . a taxi or a bus to the hospital in case you are sick?
A. drive 		B. fly 			C. take			D. walk 		
29. In the past my grandfather used to ………. to the office.
A. to walk	            B. walk		C. will walk 	            D. walking
30.. ………….. . . .  Can you tell me the way to the food shop?
A. Thank you 		B. All right 		C. Listen 		D. Excuse me 

II. Find out and circle the mistake by choosing A, B, C or D. (2*2pts = 4pts)
31. Scientists are looking for clean and effection sources of energy.		
			A      B		                    C	   		  D
32. Despite the weather was bad, I went out.
         A                   B       C                       D
E. Writing (8*2pts = 16pts)
I. Change these sentences into the passive. (4* 2pts = 8pts)
33. They will widen the roads to avoid getting traffic jams next year.
 ………………………………………………………………………… . 
34. Nobody tells this story.
 ………………………………………………………………………… .   
35. They have worked this project since 2018.
………………………………………………………………………… .
36. I did my homework last night.
………………………………………………………………………… .
II. Rewrite the sentences without changing the meaning. (4*2pts = 8pts)
37. He doesn’t go on a picnic because the weather was bad. (because of)
 ………………………………………………………………………………………………………..
38. Peter didn’t review the lesson. He could answer all the questions well. (Although) 
 ………………………………………………………………………………………………………..
39. We usually ride our bikes to school. (by)  
………………………………………………………………………… .
40. That is her motorbike. (Possessive pronouns)
…………………………………………………………………………

----The end----
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A. Listening (7*2pts = 14pts): (Unit 10 – skills 2)
I. Listen and complete the sentence by choosing A, B, C or D. (5*2pts = 10pts)
1. Energy is …………… to human beings 
A. fund			B. ground 		C. fundamental		D. developing  		
2. Many poor people in developing countries do not have modern sources of energy like electricity or ….
A. natural oil 		B. natural gas		C. natural resources		D. biogas
3. People who live in ……………..  areas have to gather wood for fuel
A. mountain		B. mountainous	C. city				D. rural
4. Biogas is the largest energy resource …………….. 
A. available 		B. unavailable		C. redundant			D. plentiful  
5. The tendency to use …………………... energy sources in developing countries is on the increase as non-renewable ones are running out.
A. reusable 		B. available 		C. non-renewable		D. renewable
II. Answer the questions by choosing A, B, C or D. (2*2pts = 4pts)
6.  What do people who live in mountainous areas have to collect for fuel?
A. They have to gather oil for fuel.
B. They don’t have to gather anything for fuel.
C. They have to gather coal for fuel.
D. They have to gather wood for fuel.
7.  What is the main use of biogas for?
A. The main use of biogas is for cooking and heating.
B. The main use of biogas is for cook and heat.
C. The main use of biogas is to cooking and heating.
D. The main use of biogas is to cooking and to heat.
B. Pronunciation (5*2pts = 10pts)
I. Choose the word whose underlined part is pronounced differently. (4*2pts = 8pts) 
8. A. attended           	B. washed                   	C. decided                 	D. disappointed 
9. A. electricity	B. negative			C. energy 		D. alternative 
10. A. renewable	B. resource			C. plentiful		D. vehicles 
II. Choose the word having stress pattern different from the others. (2*2pts = 4pts)
11. decrease		B. increase			C. reduce		D. suffer 
12. A. dangerous 	B. expensive 			C. enormous 		D. convenient 
C. Reading (8*2pts = 16pts) Choose the best answer
Modern cities all over the world face the same problems. One of them is poor housing. People often live in old houses (13) …….. huts that don't have electricity or sanitation. As city population grows governments don't have the money to build modern apartment buildings.
Cars and industries are (14) …….. city air and rivers more and more. Waste that people throw away is burned or ends up in landfills. All of this makes modern cities an unhealthy place to live in. Especially (15) …….. morning and evening rush hours cities become packed with (16) ……….. . Daily traffic jams make it impossible for people to get to work in time. 
City authorities are spending more and more money (17) ………. public transportation and are talking other steps (18) ……….. traffic in cities. A few years ago the London mayor made people pay to drive their cars into the city Centre. 
Cities of today face many (19) ………. problems. Crime, alcoholism and drug addiction is especially high in cities. Many young people are unemployed. Larger multiethnic cities face conflicts between groups with different cultural backgrounds. Blacks and whites in the USA and South Africa had a violent history in the 20th century. Even though residents of cities have a higher standard of living there remain many poor people. Government organizations work hard to (20) ………... poverty. They try to give such people better education and jobs.
13. A. and			B. between 		C. but			D. or 
14. A. to pollute		B. polluting		C. polluted 		D. pollution
15. A. beginning		B. from		C. during 		D. ending
16. A. vehicles 	 	B. motorbikes 		C. planes		D. cars
17. A. in			B. on			C. at			D. of


18. A. will reduce		B. reduce		C. reduced		D. to reduce
19. A. social			B. society 		C. societies		D. socially 
20. A. get into 			B. get out 		C. get rid of 		D. get on well  
D. Vocabulary and Grammar (12*2pts = 24pts)
I. Choose the best answer (10*2pts = 20pts). 
21. My father is ………….. a bike.
A. driving                  	B. flying           	C. riding		D.  running
22. . . ……….. . the film is a bit frightening, I really enjoyed it.
A. However 		B. Nevertheless 	C. Although 		D. Despite 
23. At 6.30 am tomorrow, Peggy …………… to school.
A. will be cycling	B. will be cycled	C. will cycle		D. cycle
24. They will go on holiday with some ……………..friends .
A. interest		B. interested		C. interesting		D. interests
25. Reading book makes me ……………….. because I can learn many things from the books.
A. interesting		B. interested		C. interest		D. interests
26. Nuclear is …………..energy, but it is dangerous.
A. renewable		B. fossil fuel		C. non-renewable 	D. natural resource
27. Don't read in week light . . . . your eyes will be harmful.
A. because 		B. although 		C. but 			D. so
28. Will you . . . . . a taxi or a bus to the hospital in case you are sick?
A. drive 		B. fly 			C. take		D. walk 		
29. In the past my grandfather used to ………. to the office.
A. to walk	            B. walk		C. will walk 	            D. walking
30.. ………….. . . .  Can you tell me the way to the food shop?
A. Thank you 		B. All right 		C. Listen 		D. Excuse me 
II. Find out and circle the mistake by choosing A, B, C or D. (2*2pts = 4pts)
31. Scientists are looking for clean and effection sources of energy.		
			A      B		                      C	               D
32. Despite the weather was bad, I went out.
        A                   B         C                      D
E. Writing (8*2pts = 16pts)
I. Change these sentences into the passive. (4* 2pts = 8pts)
33. They will widen the roads to avoid getting traffic jams next year. (Passive)
 The roads will be widened to avoid getting traffic jams next year.
34. Nobody tells this story.
 This story isn’t told.
35. They have worked this project since 2018.
 This project has been worked (by them) since 2018.
36. I did my homework last night.
 My homework was done (by me) last night.
II. Rewrite the sentences without changing the meaning. (4*2pts = 8pts)
37. He doesn’t go on a picnic because the weather was bad. (because of)
 He doesn’t go on a picnic because of the bad weather.
38. Peter didn’t review the lesson. He could answer all the questions well. (Although)
 Although Peter didn’t review the lesson, he could answer all the questions well.
39. We usually ride our bikes to school. (by)  
 We usually go to school by bike.
40. That is her motorbike. (Possessive pronouns)
 That motorbike is hers.
----The end----
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A. Listening (7*2pts = 14pts) 
I. Listen and complete the sentence by choosing A, B, C or D. (5*2pts = 10pts)
1. Energy is …………… to human beings. 
A. fund		B. fundamental	C. ground 			D. developing 	
2. Many poor people in developing countries do not have modern sources of energy like electricity or ……..….
A. natural oil 		B. biogas		C. natural resources		D. natural gas
3. People who live in ……………..  areas have to gather wood for fuel.
A. mountain		B. mountainous	C. city				D. rural
4. Biogas is the largest energy resource …………….. 
A. available 		B. unavailable		C. redundant			D. plentiful  
5. The tendency to use …………………... energy sources in developing countries is on the increase as non-renewable ones are running out.
A. reusable 		B. available 		C. renewable			D. non-renewable	
II. Answer the questions by choosing A, B, C or D. (2*2pts = 4pts)
6.  What do people who live in mountainous areas have to collect for fuel?
A. They have to gather wood for fuel.
B. They have to gather oil for fuel.
C. They have to gather coal for fuel.
D. They don’t have to gather anything for fuel.
7.  What is the main use of biogas for?
A. The main use of biogas is for cook and heat.
B. The main use of biogas is for cooking and heating.
C. The main use of biogas is to cooking and heating.
D. The main use of biogas is to cooking and to heat.
B. Pronunciation (5*2pts = 10pts):
I. Choose the word whose underlined part is pronounced differently. (3*2pts = 6pts) 
8. A. washed 		B. needed 		C. danced 		D. matched 
9. A. renewable	B. vehicles		C. plentiful		D. explosion
10. A. electricity	B. negative		C. energy 		D. alternative 
II. Choose the word having stress pattern different from the others. (2*2pts = 4pts)
11. A. different	B. expensive	 	C. abundant	            D. convenient 
12. A. biogas		B. mountainous	C. dangerous		D. develop
C. Reading (8*2pts = 16pts) Choose the best answer
Modern cities all over the world face the same problems. One of them is poor housing. People often live in old houses (13) …….. huts that don't have electricity or sanitation. As city population grows governments don't have the money to build modern apartment buildings.
Cars and industries are (14) …….. city air and rivers more and more. Waste that people throw away is burned or ends up in landfills. All of this makes modern cities an unhealthy place to live in. Especially (15) …….. morning and evening rush hours cities become packed with (16) ……….. . Daily traffic jams make it impossible for people to get to work in time. 
City authorities are spending more and more money (17) ………. public transportation and are talking other steps (18) ……….. traffic in cities. A few years ago the London mayor made people pay to drive their cars into the city Centre. 
Cities of today face many (19) ………. problems. Crime, alcoholism and drug addiction is especially high in cities. Many young people are unemployed. Larger multiethnic cities face conflicts between groups with different cultural backgrounds. Blacks and whites in the USA and South Africa had a violent history in the 20th century. Even though residents of cities have a higher standard of living there remain many poor people. Government organizations work hard to (20) ………... poverty. They try to give such people better education and jobs.



13. A. and			B. between 		C. or			D. but  
14. A. polluting		B. pollution		C. polluted 		D. to pollute
15. A. beginning		B. ending		C. from   		D. during
16. A. planes  	 		B. vehicles 		C. motorbikes		D. cars
17. A. in			B. at			C. on			D. of
18. A. will reduce		B. to reduce		C. reduce		D. reduced
19. A. society			B. social 		C. societies		D. socially 
20. A. get into 			B. get out 		C. get on well		D. get rid of   
D. Vocabulary and Grammar (12*2pts = 24pts)
I. Choose the best answer (10*2pts = 20pts) 
21. My mother is ………….. on a plane.
A. driving                  	B. flying           	C. riding		D.  running
22. A new university ……..... in my town in the near future.
A. is built 		B. will be built 	C. was built 		D. has been 
23. At 6.30 am tomorrow, my father…………… to work.
A. will be driving	B. will be driven	C. will drive		D. drive
24. I feel ……..
A. bore                        B. boring                    C. bored                       D. boredom
25. I find playing board games ………….…. because I can play them with my friends.
A. interesting		B. interested		C. interest		D. interests
26. Solar energy is ………….. , and it is clean..
A. renewable		B. fossil fuel		C. non-renewable 	D. natural resource
27. Don't play games so often . . . ………. . it takes you a lot of time.
A. or 			B. because 		C. but 			D. so 
28. Will you . . . . . a taxi or a bus to the hospital in case you are sick?
A. drive 		B. fly 			C. walk 		D. take 
29. In the past my father used to ………. to the office.
A. to walk	            B. walk		C. will walk 	            D. walking
30.. ………….. . . .  Can you tell me the way to the food shop?
A. Thank you 		B. All right 		C. Listen 		D. Excuse me 
II. Find out and circle the mistake by choosing A, B, C or D. (2*2pts = 4pts)
31. Scientists are looking for clean and effection sources of energy.		
			A      B		                     C	   		   D
32. The installation of wind turbines will be completing by next Friday.	
 		       A      	             B	      	     C	 	    D
E. Writing (8*2pts = 16pts)
I. Change these sentences into the passive. (4* 2pts = 8pts)
33. They will widen the roads to avoid getting traffic jams next year.
………………………………………………………………………… . 
34. Nobody helps her.
………………………………………………………………………… .   
35. I have done my homework for 2 hours.
 ………………………………………………………………………… .
36. She cleaned her room yesterday.
………………………………………………………………………… .
II. Rewrite the sentences without changing the meaning. (4*2pts = 8pts)
37. He doesn’t go on a picnic because he was ill. (because of)
 …………………………………………………………………………………………………...
38. The content of the film wasn't good. I enjoyed the acting. (Although)
 …………………………………………………………………………………………………...
39. My father often drives a car to work. (by)  
………………………………………………………………………… .
40. That is my invention. (Possessive pronouns)
…………………………………………………………………………

----The end----
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A. Listening (7*2pts = 14pts) Unit 10 - Skills 2
I. Listen and complete the sentence by choosing A, B, C or D. (5*2pts = 10pts)
1. Energy is …………… to human beings 
A. fund		B. fundamental	C. ground 			D. developing  	
2. Many poor people in developing countries do not have modern sources of energy like electricity or ……..….
A. natural oil 		B. biogas		C. natural resources		D. natural gas
3. People who live in ……………..  areas have to gather wood for fuel.
A. mountain		B. mountainous	C. city				D. rural
4. Biogas is the largest energy resource …………….. 
A. available 		B. unavailable		C. redundant			D. plentiful  
5. The tendency to use …………………... energy sources in developing countries is on the increase as non-renewable ones are running out.
A. reusable 		B. available 		C. renewable			D. non-renewable	
II. Answer the questions by choosing A, B, C or D. (2*2pts = 4pts)
6.  What do people who live in mountainous areas have to collect for fuel?
A. They have to gather wood for fuel.
B. They have to gather oil for fuel.
C. They have to gather coal for fuel.
D. They don’t have to gather anything for fuel.
7.  What is the main use of biogas for?
A. The main use of biogas is for cook and heat.
B. The main use of biogas is for cooking and heating.
C. The main use of biogas is to cooking and heating.
D. The main use of biogas is to cooking and to heat.
B. Pronunciation (5*2pts = 10pts):
I. Choose the word whose underlined part is pronounced differently. (3*2pts = 6pts) 
8. A. washed 		B. needed 		C. danced 		D. matched 
9. A. renewable	B. vehicles		C. plentiful		D. explosion
10. A. electricity	B. negative		C. energy 		D. alternative 
II. Choose the word having stress pattern different from the others. (2*2pts = 4pts)
11. A. different	 B. expensive	 	C. abundant	             D. convenient 
12. A. biogas		B. mountainous	C. dangerous		D. develop
C. Reading (8*2pts = 16pts):  Choose the best answer
Modern cities all over the world face the same problems. One of them is poor housing. People often live in old houses (13) …….. huts that don't have electricity or sanitation. As city population grows governments don't have the money to build modern apartment buildings.
Cars and industries are (14) …….. city air and rivers more and more. Waste that people throw away is burned or ends up in landfills. All of this makes modern cities an unhealthy place to live in. Especially (15) …….. morning and evening rush hours cities become packed with (16) ……….. . Daily traffic jams make it impossible for people to get to work in time. 
City authorities are spending more and more money (17) ………. public transportation and are talking other steps (18) ……….. traffic in cities. A few years ago the London mayor made people pay to drive their cars into the city Centre. 
Cities of today face many (19) ………. problems. Crime, alcoholism and drug addiction is especially high in cities. Many young people are unemployed. Larger multiethnic cities face conflicts between groups with different cultural backgrounds. Blacks and whites in the USA and South Africa had a violent history in the 20th century. Even though residents of cities have a higher standard of living there remain many poor people. Government organizations work hard to (20) ………... poverty. They try to give such people better education and jobs.
13. A. and			B. between 		C. or			D. but  
14. A. polluting		B. pollution		C. polluted 		D. to pollute
15. A. beginning		B. ending		C. from   		D. during

16. A. planes  	 		B. vehicles 		C. motorbikes		D. cars
17. A. in			B. at			C. on			D. of
18. A. will reduce		B. to reduce		C. reduce		D. reduced
19. A. society			B. social 		C. societies		D. socially 
20. A. get into 			B. get out 		C. get on well		D. get rid of   
D. Vocabulary and Grammar (12*2pts = 24pts)
I. Choose the best answer (10*2pts = 20pts)
21. My mother is …………..on a plane.
A. driving                  	B. flying           	C. riding		D.  running
22. A new university …... . . in my town in the near future.
A. is built 		B. will be built 	C. was built 		D. has been 
23. At 6.30 am tomorrow, my father…………… to work.
A. will be driving	B. will be driven	C. will drive		D. drive
24. I feel……..
A. bore                        B. boring                    C. bored                       D. boredom
25. I find playing board games ………….…. because I can play them with my friends.
A. interesting		B. interested		C. interest		D. interests
26. Solar energy is ………….. , and it is clean..
A. renewable		B. fossil fuel		C. non-renewable 	D. natural resource
27. Don't play games so often . . . ………. . it takes you a lot of time.
A. or 			B. because 		C. but 			D. so 
28. Will you . . . . . a taxi or a bus to the hospital in case you are sick?
A. drive 		B. fly 			C. walk 		D. take 
2929. In the past my father used to ………. to the office.
A. to walk	            B. walk		C. will walk 	            D. walking
30. Wind is ………….. , and it is clean.
A. renewable		B. fossil fuel		C. non-renewable 	D. natural resource
II. Find out and circle the mistake by choosing A, B, C or D. (2*2pts = 4pts)
31. Scientists are looking for clean and effection sources of energy.		
			A      B		                     C	   		    D
32. The installation of wind turbines will be completing by next Friday.	
 		      A      	             B	      	      C	 	     D
E. Writing (8*2pts = 16pts)
I. Change these sentences into the passive. (4* 2pts = 8pts)
33. They will widen the roads to avoid getting traffic jams next year. 
 The roads will be widened to avoid getting traffic jams next year.
34. Nobody helps her.
 She isn’t helped. 
35. I have done my homework for 2 hours.
 My homework has been done (by me) for 2 hours.
36. She cleaned her room yesterday.
 Her room was cleaned by her yesterday.
II. Rewrite the sentences without changing the meaning. (4*2pts = 8pts)
37. He doesn’t go on a picnic because he was ill. (because of)
  He doesn’t go on a picnic because of his illness/ being ill.
38. The content of the film wasn't good. I enjoyed the acting. (Although)
 Although the content of the film wasn't good, I enjoyed the acting.
39. My father often drives a car to work. (by)  
  My father often goes to work by car.
40. That is my invention. (Possessive pronouns)
  That invention is mine.
 ----The end----
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